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Missing Decimal Multiplicand

Find the missing multiplicand.

0.040.2 x =

0.360.9 x =

0.361.2 x =

0.60.5 x =

1.20.8 x =

3.32.2 x =

0.991.1 x =

0.120.3 x =

0.250.5 x =

0.160.4 x =

0.771.1 x =

0.010.1 x =

0.030.1 x =

0.630.3 x =

0.090.3 x =

0.191.9 x =

0.810.9 x =

1.260.9 x =

0.650.5 x =

0.451.5 x =
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Answers

Find the missing multiplicand.

0.040.2 0.2x =

0.360.9 0.4x =

0.361.2 0.3x =

0.60.5 1.2x =

1.20.8 1.5x =

3.32.2 1.5x =

0.991.1 0.9x =

0.120.3 0.4x =

0.250.5 0.5x =

0.160.4 0.4x =

0.771.1 0.7x =

0.010.1 0.1x =

0.030.1 0.3x =

0.630.3 2.1x =

0.090.3 0.3x =

0.191.9 0.1x =

0.810.9 0.9x =

1.260.9 1.4x =

0.650.5 1.3x =

0.451.5 0.3x =


